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QUESTION 1

Referring to the exhibit, which interface is assigned the active VIP? 

A. Router A ge-0/0/2 

B. Router B ge-0/0/1 

C. Router A ge-0/0/1 

D. Router B ge-0/0/2 

Correct Answer: B 

 

QUESTION 2

Which two statements about aggregate routes in the Junos OS are correct? (Choose two.) 

A. An aggregate route has a default next hop of an IP address. 

B. An aggregate route always shows as active in the routing table. 

C. An active route can contribute only to a single aggregate route. 

D. Only one aggregate route can be configured for each destination prefix. 

Correct Answer: CD 
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QUESTION 3

Which two statements about Martian addresses are correct? (Choose two.) 

A. Martian addresses require a route prefix match type. 

B. Martian addresses are not installed in the routing table by default. 

C. Martian addresses can only be applied to the inet.0 routing table. 

D. Martian addresses are installed in the routing table by default. 

Correct Answer: AB 

 

QUESTION 4

Exhibit. 
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Referring to the exhibit, Router-1 and Router-2 are failing to form an IS-IS adjacency. What should you do to solve the
problem? 

A. Remove the overloaded statement from Router-1. 

B. Change the IP subnet masks to match on the ge-0/0/2 interfaces of both routers. 

C. Remove the ISO address from ge-0/0/2 on Router-1. 

D. Change the ISO areas on the Io0 interfaces to match on both routers. 

Correct Answer: B 

 

QUESTION 5

What is the default route preference for BGP? 

A. 150 

B. 167 

C. 170 

D. 179 

Correct Answer: C 
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